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Please check that this question paper contains 8 printed pages and 2 pages of maps.

Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

Please check that this question paper contains 22 questions.
Please write down the Serial Number of the question before attempting it.

15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.
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(v) 9T GEI8 G 13 7 T ITIT J99 & | 376 T T Goof eI J97 & | Jeddh 497 3 3%
HT & | HedH 79T 1 3T 80 T 100 FIT T 37k 71 &1 T |

(vi) 99 T 14 T 20 TF 30 FRIT J97 & | Jed% 99 &5 3 & | 370 & JdF Jo7 FH
FI150 v1=s1 @ 37feres 8l &1 =RT |

(vii) 97 G721 322 THFT Qe g9 5-5 3k & & Sl e 79 18 qEfaE w7 i
TETOT 1 G, R @ 3% FrHieT e @ qeara & |

(viii) TG 37 YR & 3T 7T GL-TAIET 1 3797 ST-GRAFT 3 e § 3799 Fe4T BT |
(ix) E-HAMCE T & forw @i srerar @fder & 73T &1 @ty & St & |

General Instructions :
(i)  There are 22 questions in all.
(ii) All questions are compulsory.
(iii) Marks for each question are indicated against it.

(iv) Question numbers 1 to 7 are very short answer questions carrying 1 mark each.
Answer to each of these questions should not exceed 40 words.

(v)  Question numbers 8 to 13 are short answer questions carrying 3 marks each. Out of
which one question is a value based question. Answer to each of these questions
should not exceed 80-100 words.

(vi) Question numbers 14 to 20 are long answer questions carrying 5 marks each.
Answer to each of these questions should not exceed 150 words.

(vii) Question numbers 21 and 22 are related to identification or locating and labelling of
geographical features on maps carrying 5 marks each.

(viii) Outline maps of the World and India provided to you must be attached within your
answer-book.

(ix) Use of templates or stencils for drawing outline maps is allowed.

1. TOR ¥ SEET S WHde g J 7 1w & 2 1

What is the meaning of natural growth of population in the world ?

2. OUAr 79 YR [Ume AT & STe i Graursi—e s & 2 1

How does the ‘Equity’ make the life of disadvantaged peoples comfortable ?

3. 3MUTRA SN S HIE Uh ST ST | 1

Cite one example of basic industry.
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4. OO oA @ AT AU & 2 HET O T U Seed [iEu | Y4+ lp=1

What is a ‘Port of Call’ ? Give an example of it.

5. “1921 ¥ 1951 5 ST Hl ARA H SHEEAT Hi (X Jhg 1 16 & & H I SAA & 17 3
I TG HIWT | 1

“The period from 1921-1951 is referred to as the period of steady growth of

population in India.” Examine the statement.

6. “IRA H e, A TahTT Goshich Hilcshd § Fared & 17 39 HU- Hl WE HIST | 1

“Kerala is able to record the highest value of H.D.I. in India.” Examine the statement.

7. 1961 % 915 HHERTST FHSI-09 = o TebR Hewl U i & 2 1

How did Marmagao seaport gain significance after 1961 ?

8. URA H Tad IR H-Tfesd UHIUT Il § 3IE0T Afed 3T T HieT | 3
Differentiate between the clustered and semi-clustered rural settlements with examples
in India.
9. i U T 3 I 31T HINT S 3Tk A T T 791 o 3 feAfa 3x1=3
100+ ... :
90-94 =111
85+ ... ﬁ {-.r?“
75-79 &y e
65-69
55-59 -
B 45-49 JI'E
® 35.39 m
25-29 [a" {]
15-19 S FEEEEEEE|
5-9
0.. W 'ﬁ' . A, " N
10 8 6 %W‘Z’m%m‘zﬂ 4 6 8 100

ST B ; TG ST, 2009-10, ST T W T
(9.1) 8 TR § SEE i gig o vgia H9 @ T F 2
(9.2) TE RIS e TR i ST T I & 2
(9.3) ‘FF Bl AT ¥ T W T 2
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Study the diagram given below and answer the questions that follow :

100+ ... h

90-94 A
85 + ...
75-79 ¥ ;

MALE FEMALE
65-69
§ 55-59
IEI- 45-49 }il
o 35-39 ]Ill
s .
§ 25-29 . " i) ”
15-19 |n’ -.'
5-9 I
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Per cent of total population

Source : Demographic Year Book. 2009-10, United Nations Statistics Division
(9.1)  What is the trend of growth of population shown in this pyramid ?
(9.2)  What type of economy does it represent ?
(9.3)  What is ageing population ?
A ; TEATAEd T e gfeartua whtenteat & forg ue 9@ 9 & ©H W E 3x1=3
(9.1)  eg-fom fuxifre = o/ o7 € 2
(9.2) ot =1 it sER o a1 i T 5 2
(9.3)  ‘FZ Al STHEET H 37 WL HINT |

Note : The following questions are for the Visually impaired candidates only in
lieu of Q. No. 9:

(9.1)  What is the meaning of age-sex pyramid ?

(9.2)  What does the narrow base of the pyramid indicte ?
(9.3)  Explain the meaning of ageing population.

10. SAFTIIETE &l GhoUdl &l TWE ITEL0] Higd hifeT | 3

Examine the concept of Neodeterminism with example.

11. ¥RA H gET GHEt 3301 o oo & 7T 32941 ol T iy | 3x1=3

Explain the major objectives of developing ‘drought prone areas’ in India.

12.  «‘Sgdt g8 SHEEr 3R 3T ORaror & HRT STo & (gemhyul ST ¥ YR § 5o
T TUTET BT TEIHIOT §T & 1 3 ol T W HIWT ST 37 TR o FeR hl gaieaned
T | ST Y T ¢ | 3

“Indiscriminate use of water by ‘increasing population’ and ‘industrial expansion’
have led to the degradation of the quality of water in India.” Explain the values that
can help to discourage such practices.
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13.

64/2/3

T feu T e 1 EEe HitT 3T ST A KU T U9t % 3w fofEn

(13.1)
(13.2)
(13.3)

Study the following diagram and answer the questions that follow :

(13.1) Identify and name the steel plant shown in the diagram.
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(13.2) Mention the source of water for this plant.

(13.3) Name the mining fields which provide coal and iron ore to this plant.

e ; TG T hae gl wenteat & fow ue 9@ 13 & ©H WE
(13.1) SETg 59 H I Uenishd &lel @ ed | &1 A fafau |

Ix1=3

Ix1=3

(13.2) H&T 3R ST T T W {ohT U feheel JT Wb & Shedl HTeT ST Seoid HifTT |

(13.3) iET 3R ST e o1 SMERYd ST & €9 H el W By |

Note : The following questions are for the Visually impaired candidates only in lieu

of Q. No. 13 :

(13.1) Name the integrated iron and steel plant located in the State of Chhattisgarh.

(13.2) Mention any two raw materials used in iron and steel plant.

(13.3) Explain the importance of iron and steel industry as a basic industry.
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14.

15.

16.

17.

18.

19.

20.

TR H S P, Yo Mo o T T e FY A & 7 T BT B AGETT W | 5

“Dairy farming is both capital intensive as well as labour intensive in the world.”
Justify the statement.

“3TTTET ol HHT S TET ANEAAT Bl Fhog forehraeticr 90 H v Tt bl WoE I § 17
TH FHA D! I Tfed TRE HIFT | 5

“Shortage of housing and growth of slums are the major problems of urban settlements

in developing countries.” Examine the statement with examples.

AT SR TqIH hATheTdl H 3R T HiT | 5

Bring out clearly the differences between Tertiary and Quarternary activities.

IR STeTe i gig § IRAT Yord = f5g TR ANe WS 5 € 2SS0l |ied T
HIT | 5x1=5

Explain with examples, how Indian Railways contributed to the growth of Indian

economy.

TOR H IRUETE UNEe o o T HIST | Reed i 30 61 & ig qunst s /e
HIT | 2+3=5

Explain the advantages of pipeline transport in the world. Examine the major problems of
this mode of transport.

IRA | B 3R SIS T FH BT A0H, ATt STERhdrel 3R 3k ke &5 & 98y o
FHIT | 2Wh+2s=5

Describe the cultivation of Cotton and Jute in India with reference to geographical
requirements and areas of production.

“TET I UISHAT HaT & 33 3R e & o feIu o S #1 I S Rt § 7 39
e 1 foerspyut faaem ST | s+ 2% =5

“Migration creates both benefits and problems for the areas people migrate from and
migrate to.” Substantiate the statement.
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21. WER & ToHifder {@-qHEes 9 9 Siiters aefoi &t A, B, C, D 3R E ¥ feamr mn € |
T IO I T I T AR I 438 ¥ W T 37 Wl AW, b ehe @it T
T W e 5x1=5

(A) TTIoT 3MWREHT H Wad o &Ihel ol <97 |
(B) TR H STeHaTE IS W P h &
(C) 3T U U@ THsI-Ia=

(D) SRR FaE e

(B) W TR

The five geographical features are shown on the political outline map of the World as
A, B, C, D and E. Identify these features with the help of the information given below
and write their correct names on the lines marked near them :

(A) The country with largest area in South America.

(B) An area of subsistence gathering in Asia.

(C) A major seaport in Africa.

(D) An International airport.

(E) A mega city.

Ate ;. FHfeiad we Faer gieantim adenfaat & fou moa T 21 F ™A WE: 5x1=5
(21.1) TTRI0T 3TARHT o TH TS &IFAHA ATel 97 T A9 i@y |
(21.2) TRM H AT TS GUE & H & FH AW A |
(21.3)  =FeT0T STRIHT H fohET U W@ HHRI-OH 6T A fAraw |
(21.4) AT % fHO UH RIS TR-U9A & A1 fefEu |
(21.5) HIH T 3N & TH ‘WP TR FHl 19 feaf@u |

Note : The following questions are for the Visually impaired candidates only in
lieu of Q. No. 21 :

(21.1)  Name the country of South America with largest area.
(21.2) Mention one area of subsistence gathering in Asia.
(21.3) Name any major seaport in South Africa.

(21.4) Name any International airport in Germany.

(21.5) Name one mega city of United States of America.
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22. WRA % ST T AHITS T@-AMES § et s fefa suged et @ KErRe 3K 3716
A fofa 5x1=5
(1) e T ST areT 9 (2011) |
(i) AT TR SHE@I % ST el T57 |
(i) FHeh 5T H e et I HREMT |
(iv) gfyem STet o eI Uehishd AleT Ue ST S |
v) OIS U & Ia19 1 T A % (o0 faepiad foham T e g gqst-ua- |

Locate and label the following features on the given political outline map of India

with appropriate symbols :

(1) The state with highest density of population (2011).

(11) The state having highest percentage of urban population.

(111) An oil refinery located in Karnataka.

@1v) An integrated iron and steel plant located in West Bengal.

(v) The major seaport developed to relieve the pressure at the Mumbai port.

e : FTAEd 7o et gheaTid wenfoat & T A e 22 F|MEA WE: S5x1=5
(22.1) G Y T T R HT G TeT o7 B 1 & 2

(22.2) R ST T T T TR T TG €T T99 B T 2

(22.3) Mg H W@ HEAA TH H 919 fafaw |

(22.4) Tovavadan s W fore T | fera € 2

(22.5) I UA9 % 9 I HH A h [T S U & w9 § fasiad feu Mo vmE
TUEI-U 1 A fafaw |

Note : The following questions are for the Visually impaired candidates only in
lieu of Q. No. 22 :

(22.1)  Which is the largest state of India in respect of population ?
(22.2)  Which is the largest state of India in respect of urban population ?
(22.3) Name the major coal mine in Tamil Nadu.

(22.4)  In which state is Visvesvaraiya Steel Plant located ?

(22.5) Name the major seaport developed as a satellite port to relieve the pressure at
Mumbai port.
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